
Self Assessment Test           Mathematics                                                                                     Class       6 

F: M 20                                Answer All Questions                                                                            {4×5 = 20}                                                                                                                        

TIME    45 Minutes 

 Q 1 {a} Find the whole number whose successor is 68100. 

        {b} evaluate | -8 | + | -6 | – | – 10 |      

 

Q 2 {a} Arrange in ascending order -8, 23, -60, 9, 74, -11, -3  

        {b} Use number line to find (-3) + (4) 

 

Q 3 {1} Find the number which when divided by 26 gives 15 as quotient and 8 as                                     

            remainder.  

        {ii} Find the value of 64 – 36 + 8 -25 -20 

 

Q 4 {a} Find the largest number of 4 digits which is exactly divisible by 35.  

       {b} Evaluate 358 × 156 + 358 × 44 

 

Q 5 {a} Evaluate 25 × 37 × 4 

       {b} The sum of two integers is -32 if one of them is -10 find the other.  


